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PART A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your
answer sheet.

16- That restaurant is always full of people, so it ... be very good.

1) has to 2) will
3) should 4) must
17- Everest is the highest mountain ... the world. It is ... any other mountain.
1) of — the highest 2) in — higher than
3) in—as high as 4) of —more higher than
18- My mother and I ... along the street when suddenly we ... footsteps behind us.
1) was walking — heard 2) walked — were hearing
3) were walking — heard 4) were walking — were hearing

19-The bed was too heavy for the old woman to move. So, Lisa helped her ... it into the house.

1) care 2) collect
3) compare 4) carry
20- On December 7, famous American film actor, Harry Morgan, ... peacefully in his sleep at the age of
96 in Los Angeles.
1) took off 2) believed in
3) passed away 4) gave up

21-The ceremony is going to be held in a mountain village in Northern Italy, so it won’t be quite ... for
young children and wheelchair users.
1) solvable 2) suitable 3) hospitable 4) changeable

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on
your answer sheet.

Science is the search for truth and knowledge. It is the (22) ... to understanding life, the world and almost everything!

The world’s great scientists were all thinkers who spent their lives experimenting in universities and observing the
universe in observatories while many others (23) ... the comfort of home. This need for understanding made many
great (24) ... possible. Science begins with problems and scientists study the world around us, search for gaps in our
knowledge and try to find the answers. Not all scientists study the same things — they divide science into different areas
and specialize in different subjects. Scientists do research (25) ... their guesses and opinions, and develop theories by
experiment. However, science is not just used by researchers working in (26) ..., it is a part of our lives. From
brushing your teeth to setting your alarm, science is with you all day, every day.



2 $ homino ol pad 9,5 5 - oollGgd Bgo3T
22- 1) sign 2) key 3) success 4) bulb
23- 1) enjoy 2) are enjoying 3) were enjoying 4) will enjoy
24- 1) inventions 2) destinations 3) attractions 4) vacations
25- 1) of 2) on 3)at 4) over
26- 1) offices 2) deserts 3) heavens 4) laboratories

PART I: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct

choice on your answer sheet.

When Margaret Mitchell broke her leg, she had to stay home and relax. She had read all the books in the local

library and there was no new book for her to read. Her husband suggested that she should write her own book.
Thus, Mitchell wrote her only novel, Gone with the Wind, which was published in 1936. The book proved to be
such a huge success that it changed Mitchell’s life until her death in 1949. The novel has been translated into 28
languages and has sold more copies than any other book. It also won the Pulitzer Prize in 1937. Two years later,
David O. Selznick produced a movie based on Mitchell’s Gone with the Wind in 1939. The movie holds the
record of having been viewed more times than any other movie produced. Throughout her life, Mitchell said that
her main characters, Scarlett and Rhett, or any of her other characters were real. Mitchell did have access to
family letters dating from the 1850s to the 1880s, the time of the American Civil War. It seems natural that a
woman with Margaret Mitchell’s vivid imagination and historical knowledge, and in possession of a collection of

family correspondence could weave a story that is still exciting.

27-1n the passage, we can find the dates for all of the following EXCEPT the time when ... .
1) Mitchell began writing her novel
2) Margaret Mitchell’s died
3) a movie was produced based on Mitchell’s novel

4) Gone with the Wind became a prize winner novel

28-The underlined word “vivid” in line 10 is closest in meaning to ... .
1) various 2) clear

3) ordinary 4) serious

29- Which of the following was an important factor in the huge success of Mitchell’s novel?
1) The production of a movie by Selznick
2) Mitchell’s weaving skills
3) Mitchell’s creativity
4) The American Civil War

30- According to the passage, which of the following statements is TRUE?
1) Margaret Mitchell wrote Gone with the Wind based on a story by her husband.
2) Selznick produced a movie based on Gone with the Wind two years after it was published.
3) The people in Margaret Mitchell’s novel were all imaginary characters who lived long ago.

4) Gone with the Wind is a very interesting story, although it is about what happened in the past.
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